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. 2x(12.5+6.5) = 38 ft

3.75x840 = $3,150

. 160 ft (perimeter)

1500 sq. ft (area)

. 20 sections
. 2x5x(8+14) = 220 (ft?)
. 220+50 = 4R20

4+ 1=>5cans

. 5x12 = $60
. 2x(15+10) = 50 in

15x10 = 150 sq. in.

. 192+12=161n
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. 20x12 = 240

3240 = 180 in2

. 3X5x(3+T7) =25

C3in=1f

4x5% =21 ft

. 80+10=18
. 50+2 = 25 (half-perimeter)

25-10 = 15 (length)
15x10
= 150 square inches

. 74+2 =37

37-12=25
25%x12 = 300 inches?

. The length is 20 since

. 10

56+2 =28
28-8=20

. 36 =6x6
4x6 = 24 ft

. 60+4 =15
152 = 225 in?
8 &3 (R)

.2

93 = (323 = (3%)2 = 27
O=2

. 23

. 31

x1ys = 2x§ = 2= 11% = 11 min & 15 sec

5 _

C 2= 5/24

. A=39

. 8%4 =32
120+40 =3
1 min 30 sec = 1.5 min
315 =

. 30040 =22

. 38+2 =19 (half-perimeter)
19-10=9
10x9 =

. D=5
C=10
B=10+2=12
A=12+6=
A

. 125%
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69.
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71.
72.

73.

74.
75.

1=1

3=1+4+2
6=1+2+3

12 = 1+2+3+6
1+3+6+12=22

8x6 =48
12X48 =
Method I)
12,5 + 2x7.25
=12.5+ 14.5

=B7

Method II)
12V + 2XT7V4
=12V2 + 14"

=27

80

50 +75 =125
50 + 125 =175
175%2 = $350
24

.6

21 _ 51 _
o 276 =21/10
0.7

180+12 =15
15+3 = 5yd
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3
560000

9

18

2=2/3

125

0.024

14.62

6,000,000x10% = 6,000,000x0.1 = $600,000
13x4x3 = 21 (hours)

2000x25% = 2000x0.25 = 500

3157

2(quatter citcle) \ square
= 2007 - 400 = 228

shaded area
= the square — the leaf

=400 - 228
=172
60+.03 = 2000

32000+400 = 80 sec = 1 min & 20 sec
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